Division — bus stop method

KM maths

Level 1 - dividing by 2 and 3 with no carrying

2 )440 3)960 2 )422 2 )220

Level 2 - dividing by 3 and 4 no carrying

3 )o66 4 )448 4 400 3 )399

Level 3 - dividing by 2 and 3 with carrying

3 )747 2 )506 3 )732 2 )902

HBS maths

Level 1 — warm up — dividing with no carrying

7)700 3 )606 4 )444 8 )808

Level 2 — dividing with carrying 3 digits
4 5696 ) 5855 8 5976 ) jBTO

Level 3 — dividing with carrying 3 or 4 digits

9 )8451 3 )2097 4 )428 7 )3948




CH maths

Level 1 —warm up — dividing by 2-5 with carrying

4 )3892 2 )262 5 )4220 3 )1152

Level 2 — dividing by 6-9 with carrying

8 )5336 6 )2190 9 )8964 7 )5061

Level 3 — dividing with decimal remainders

4 5325?' 9 52102 3 51112 2 )1503

Challenge

Can you give these answers as a whole number and fraction rather than a
remainder?

7 )2644 3 )2029 7 )4153 4 )2827



